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[A person starts walking from point A. He walks 10 km to the south, then walks 10km to the
east. Then he walks10 km to the north, get back to point A. Find the point A on earth.] 1)
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[A light ray is incident from denser midium to rarer midium at critical angle. If the critical angle
is 37°, what is the angle between incident ray and the refracted ray?] 1)
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[Some water is kept in a glass jar at 1°C temperature. If the temperature of water is raised to 3°C,
what change will happen to height of water in the jar?] 1)
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[You are given two identical rods of which one is a magnet and the other a simple iron rod. How
will you identify the magnet? (You don’t have any metal object except for the two rods)] 1)
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[Three light bulbs A ,B, C are connected with a battery as shown in the figure. What will happen

if bulb C is suddenly fused?] 2
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[A body of mass m is lifted up to the same height once vertically and again sliding it on a
frictionless inclined surface. What is difference between the amount of work done in the two
cases? Explain.] (2)
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[A and B are two bodies with the same temperature. They have 43J and 158J heat respectively in

them. If they are kept in touch for 20 minutes, then what will be the amout of heat in them after
the contact? Explain.] (2
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[You are heading towards a hill on a car. When you are at a distance of 20m from the hill , you

blew the horn. What is the maximum allowed velocity of the car for which you can seperate the
echo from sound (velocity of soundin air is 350 m/s.)] (2)
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[Water is being boiled in a container. The area of the lid is 100 square millimeter & mass 0.5 kg.
What is the minimum pressure of steam for which you cannot close the container with the lid.
(Air pressure is 150 kPa.)] (2)
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[Two identical spheres of same material are kept at a distance d from each other. The amount of

charge in the spheres are +8g and -2q and force between them is F. They are kept in touch for
some time and then placed at a distance d/2. What is the force between them now?] (@)
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[P and Q are two parallel plane mirrors. The distance between them is 10cm. A torch is placed

between the mirrors at a distance of 3cm from P facing Q. When the torch is lit, will you get any
image for mirror P. If yes, where?] (2)
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[A layer of liquid with density 800 kg/m® floats on top of a volume of water . A block floats at
the oil-water interface with 3/4 of its volume in water and the rest of it in the liquid. What is the
density of the block?] (2
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[A body of mass m is divided into two parts. the parts are kept at a certain distance. What are the
masses of two parts for which the attraction force between them will be maximum?] (@)



